)

s

¥

0

1} void machmach() {f

r(intn=0;n
if (xd < 0) &&

8) {stroke(min(255, ss), 0, 0, max(0,

>

xd)*(180/PI) +180

>

atan(yd|/;

f (welches

b

i

{

i++) {machmach()

d > 0)) {ww

>

Vi

=0;i<a*130%4

0) {xd = 0.0001;} if (xd > 0) && (

inti

for (

S

869.24805; } void draw() {

el
"’fa?j ‘\3" 3
{g@{!%}
i

if (xd

d) *0.8
7) {stroke(255, 255, 0, max(0, min(255, 255/F1k/F3k*F4k)));}

7) {stroke(0, 0, 0, max(0, min(255, 255/F Ik/IF3k*F4k))); } if (welches == 8) {stroke(0, 0, 0, max(0, min(255, 255/F 1k/

pxli[9]

xd*xd +yd*y

y

sqrt(.
;}if (welches
-} if (welches

>

y

)

(,‘v,,vc -yy

954.74; pxli[8] = 1127.3638
KX}

x); yd

(255, 255/F 1k*2/F3k*F4k)))

XXC -X.

, Mmin

0
6) {stroke(0, 0, 0, max(0, min(255, 255/F 1k*2/F3k*F4k)))

lif6] = 20.430908; pxli[7]

393.77234; p.
max(1, min(10,i +1));}} xd

pxli[5] =
dd; welches =
== 06) {stroke(255, 100, 155, max(

y

l.'

f (welches
4)));} if (welches

881.7024

) {F3k = max(1, dmin -dd); dmin
}

y

k-

spdiiiiling,

694.8529; pxli[4]
}

y

(255, 255/F 1kIF3k*F4k)))

, min

mn

.

ww = 20 +mww

>

1207.12; pxli[3]
if (dd < dm

55 -random(10), max(0
0

>

pxli[2]
ss +100

y

;SS

2
f(welches == 5) {stroke(255 -random(50), 255 -random(20), 255 -random(10), max(0, min(255, 255/F 1 k/F3k* F4k*

269.38135
sin(pw*PI/180)*ddd

el

I i
R S -

yy = ystart

y

yy +

pxlif1]
xstart

>

*PI/180)*ddd; yy

3 =

ystart = 0

’

=0

X +cos(pw
f (welches == 5) {stroke(255 -random(50), 255 -random(20)

X0

xXx =

;

stroke(255, 200); pxli[0] = 1195.5654

smooth()
max(1, (100/dd*dd))

background(0); xstart

i
i

;

Hpss =1

0

Ty =

rameRate(990)

7

}pw = pw +30; ddd
(255, 255/F1k/IF3k*F4k)));}

, min

f (SEGMENTy == 2) {SEGMEN’

{

xd)*(180/PI) +180.

ydJ:

4) {stroke(0, 0, 0, max(0

ize(3840, 2160, P2D); background(0); f

i
3 u)f,ﬁ?}%
o

4) {stroke(255, 100, 100, max(0, min(255, 255/F 1k/F3k*F4k)));}

void setup() {s

1
f((xd>0) && (yd < 0)) {pw = atan(
-} if (welches

>
;

}if (welches

PIPI

;

0; SEGMENTy = SEGMENTy +1

int

*F4k)))

{

2) {SEGMENT:

=)
1]
g
=
S
2
%)

s int

xd)*(180/PI); }

(255, 2550000/F 1 k/F 3k
3) {stroke(0, 0, 0, max(0, min(255, 2550000/F 1k/F3k*F4k)))

= atan(yd|/
, min

if (SEGMENTx

)) {pw

3) {stroke(min(255, 155+ss), 80, 100, max(0

int SEGMENTx = 0

yd < 0

y

float mww = 0 +174%0.5

xd)*(180/PI) +360;} if (xd < 0) && (

= atan(yd/>

;

*F4k))),} if (welches

();} SEGMENTx = SEGMENTx +1;

120

exit|

float F4k
==9)¢

f (welches

if (PIPI

{

float F3k;

d > 0)) {pw

(255, 2550000/F 1 k/F 3k

, min
PIPI +1;

Vi

float m6 = 174; String m6,
2) {stroke(0, 0, 0, max(0

Fif (xd < 0) && (
(255, 2550000/F 1kIF3k*F4k))); }

>

, min
if (welches

!

}

s

float m6_flk = 174;
xd)*(180/PI) +180
start > b) {saveFrame(PIPI+ “ tif“); PIPI

8
yd|/;

*Fdk)))
Jif(y

atan(

) {stroke(255, 100, 0, max(0

0; float F1k

vd > 0))

if (welches

[

pw
==2
ystart +1/F1k

mntm

y

ystart

y

}

y

ystart = 0,

Fif (xd > 0) && (

o

0; float

y

< anBB
—

0001

i

0

(0, min(255, 255/F1k/F3k*F4k)))
1) {stroke(0, 0, 0, max(0, min(255, 255/F 1 k/F3k

if (xstart > a) {xstart = 0

X

>

@ shast
I = i 5 5 : ) § " 2

-
S i

0) {xd

s

i «(,{jJJPPP»»»?»»\PPF

N
k.

i (xd

xstart +1/F1k

8)) {if (welches

yd)

S

int welches, welches_0; float xstart

xstart

>

in;
0)

xd*xd +yd*

216t

I

if (PIPI > 4) && (PIPI <

J

-py); dd = sqrt(.
1) {stroke(min(255, 155+ss), 100, 170, ma.

4 -SEGMENTy*

(yy
}}

y

yd =

y

¢, yye, xd, yd, px, py, dd, pw, ddd, dm
(xx -px)

>

xd
4) {if (welches

(255, 50+ss), 45, 44, max(0, min(255, 255/F 1k/F3k*F4k)))

py = pxlifi]
start®*4 -SEGMENTx*3840, ystart*

y

float[pnum]; float
(x.

point|

2} if (PIPI <

>

ne

i

xd)*(180/PI) +180

in

yd/;

atan(

=0, i < pnum, i++) {px = pxli[i
10) {stroke(m

Sfloat[pnum]; float[] pyl

= new
i
)) {ww =
, min(255, 255/F1k/F3k*F4k))); }}

0

i
L

for (int

yd < 0

f( welches

i
.

10000

, 0, 0, max(

in

{

10; float[ ] pxii

float ss =

20;
((ww+5s/30)*PI/180)*ss,; dm

yd|/;

i

(welches

xd)*(180/P1); } if ((xd > 0) && (

(255, 255/F1kIF3k*F4k))); }

S

yy +Ssin

, min

Wi
S
HNINC

atan(

) —

y

yy

>

float
kss

x = 50;

float x

A

T

S
S
S

10;
X +cos((ww+ss/30)*PI/180)%*

PR

B i
&'ﬁl S i
o
S

L

9) {stroke(255, 255, 255, max(0

9) {stroke(0, 0, 0, max(0, min(255, 255/F 1k/F3k*F4k)))

int pnum

o

>

=1
=X

X

0/PI) +360,} if (xd < 0) && (yd < 0)) {w

Ve
e

int num
yy; X

y

>

{% |

ye =yy

0

o

b =108

if (welches

s int
XXC = XX,

< 10; n++) {x
(yvd > 0)) {w

w = atan(

>

N
N

1920

(255, 255/F1k/F3k*F4k)));} if (welches

F3k*F4k)))

min
1994-2020 Walter Gorgosilits (Dextro.org)

it a

DEXTRO.0RG




